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qm+= ;=  lzif{s  of]hgfsf] ljj/0f       ah]6 /sd 

 1 u|fj]n, af6f] dd{t 

tyf lgdf{0f .  

s= ;'Gb/ gu/ b]lv Gof}kfg]sf] 3/ x'b} 

/fKtL gu/  

         400,000  

v= gof a:tL rf]s b]vL em/s6L rf]s 

;Dd  

         450,000  

u= yfkf 6f]n b]lv k'j{ gofj:tL rf]s 

;Ddsf] cw'/f] af6f] . 

         400,000  

3=dbggu/ b]lv 5]pnfO{g 8]8]jf hfg] 

af6f] ;Dd 

         400,000  

ª== gof+ a:tL 8f8f 6f]ndf af6f] u|fe]n 

.  

         200,000  

r=w|'asf] 3/ b]lv l/xf/ rf]s ;Dd 

u|fe]n 

         100,000  

5= e6\f rf]s blIf0f 6f]n ;Dd .           500,000  

h=6+ssf] 3/ b]lv k'/gsf] 3/ x'b}+ sfln 

a= sf] 3/lt/ hfg] af6f] . 

         250,000  

em=l;Qn gu/df ;;fgf af6fx? dd{t 

tyf u|fe]n 

         350,000  

    `=hu]8f sf]if tyf j8fdf /x]sf ; 

;fgf af6fx? .  

         400,000  

    2 

dlGb/ lgdf{0f .  

s=afafgu/ dlGb/sf] 5]pdf gfln 

lgdf{0f 

         150,000  

v=sflnsf dlGb/sf] kvf{{n lgdf{0f          200,000  

u=b]lz ufpmsf] dlGb/ dd{t            50,000  

4 9n lgdf{0f . 
s=  j8fsf ljleGg :yfgdf cfjZostf 

cg';f/ xf]dkfO{k xfNg] . 

         200,000  

5 af6f] lkr . 
s= em08jf rf]s b]vL lztngu/ ;Dd 

sfnf] kq] .  

       3,000,000  

     6 ;/;kmfO{ s= j8fsf ljleGg :yfgdf ;/;kmfO{ 

tyf v]n d}bfg dd{t / v]ns"b ;fdu|L 

        2,00,864  

7 lzIff s= ;/:jtL cf= lj= kvf{n lgdf{0f .           350,000 

  hDdf       &,^)),*^$ 


